17EE32

Time: 3 hrs. % 7 Max. Marks: 100
Note: Answer any FIVE full questtons, choosmg ONE full questwn from each module.
\ Module-
1 a. Explain independent and dependcnt sources. ' (04 Marks)

b. Determine the potential difference between M and N of the network shown in Fig Q1(b)
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& - Fig Q1(b) PN (08 Marks)
g C. Obtain star connected 1mpedances to replace a set of A connected impedance. (08 Marks)
& 2 a. Find equivalent resistance across x and y of the circuit shown in Fig Q2(a)
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b. Determme the node Voltages of'the 01rcu1t shown in Fig Q2(b)

-

fi

. Any revealing o

2

(06 Marks)

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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c¢. Find I, I, and Vy of the circuit shown in Fig Q2(c) using mesh current analysis

&u\—

(08 Marks)
: Module-2 ’
3 a. Find currently in the network shown in Fig Q3(a) using superposition theorem.
Fig Q3(a) (10 Marks)
b. Obtain Thevenin’s cquwalent circuit of the network shown in Fig Q3 (b)
tvv aw~
(10 Marks)
, OR |
4 a. State and explain nortonb theorem. E%gi{{{ﬁ IBI i "M;:Y (08 Marks)
b. Determine I, of the circuit shown i in 1*1g Q4(b) ikl
Fig Q4(b) (12 Marks)
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Module-3
Show that resonant frequency of series resonant 01reu1t is equal to geometric mean of two

half power frequencies. { (08 Marks)
Determine R, L and C of parallel circuit whose response curve shown in Fig Q5(b), what are
the new value of wo and bandwidth increased four times.
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FigQ5() (12 Marks)
OR "
Show that : 1) The voltage of a capacitor cannot change instantaneously ii) The current in
inductor cannot change instantaneously. (10 Marks)

A series RC branch with R = 20Q and C = 1uF is shunted by an inductor o resistance 202
and inductance 1H. This is supplied by a DC source of 100 volts through series resistance of
10Q. There is a switch across 10 resistance which is closed at t = 0. Solve for the currents

in L and C and their derlvatwes att=0". 1 \ - (10 Marks)
.’ /4 _°CMRIT LIBRARY
: Module-4  BANGALORE - 560037
State and prove: 1) Imtlal value theorem  ii) Final value theorem. - (10 Marks)
Use initial value and final value theorem where they apply to find f{0) and f(c0) for
F(s)= 3S 7 32S 2 LI, T ey (10 Marks)
s(s” +3s" +4s+2)
,,,,, OR
. Find Laplace transform of the functlon
fit)y=t for0<t<1 o
=0 for t<1 (06 Marks)
Obtam Laplace transtorm of impulse functlon (08 Marks)
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x s Ot
Fig Q8(c) (06 Marks)
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Module-5
9 a. A symmetrical star connected system is shown in Flg Q9(a). Calculate the three phase time
voltage and power given Vrn = 230(0 Volts assume phase sequence is RYB.

R

Fig Q9(a) (10 Marks)
b. Define Z ~parameter and draw its equlvalent 01rcu1t. (10 Marks)
- OR

10 a. Determine Y-parameter of two part network shown in Fig Q10(a)

- & CMRIT LIBRARY
F1g QlO(a) BANGALORE - 560 0 (10 Marks)
b. Find the transmission parameter for the network shown in Fig Q]O(b)
2, EW 0:3V Ta

. Fig Q10(b) (10 Marks)




